SUBARU

e

. -

Q +902165083786 R info@parsrot.com



Leading

Manufacturer
Company

WHY PARS STEERING
SUSPENSION PARTS

1. Having an understanding that maximizes customer satisfaction.
2. 32 years of experience on automotive spare parts industry.
3. Certificate of IS0 9001:2015

4. Factory is next to biggest port, Logistic Companies and Air Cargo
in Istanbul, Turkey

5. High-Tech Machinery, and High-Sustainable Quality
6. Just in time production with scheduled producing program.
7. Competitive and reasonable prices.

8. Fast Costum Regulations.

9. Customer-oriented operating system

0

Ferhatpaga Mahallesi 38. Sokak No: 91
Atasehir/ISTANBUL, Tiirkiye

e +90216 661 26 19

Q) +90216 661 2619

ABOUT COMPANY

As a leading manufacturer, PARS ROT VE ROTIL company has been
producing high qualified steering and suspension spare parts

for passenger cars and light commercial vehicles, it has been founded
in 1989 and it has supplied acceleration to the sector with the
improving institutional structure and fast growing producing power

that it has.

Over 5 million items annual producing capacity and 7 thousand
product range, and with over 200 employees places

PARS ROT VE ROTIL to the position of leadership within the sector in
national and also international improving markets.

As one of the varied range steering and suspension parts manufacturer
in the world,

production and assembling facilities of PARS ROT VE ROTIL contains
operations of the following product lines in steering and suspension

group for the aftermarket, stabilizer links, tie rod ends, axial joints,

ball joints, bushings.

PARS ROT VE ROTIL, is certified under ISO 9001-2015 quality
management systems and the products are precisely assembled in our
assembly lines and further, are made ready for packing upon

final control.

www.parsrot.com
info@parsrot.com




SUBARU

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 3 info@parsrot.com




—
sy L and

BRZ

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

SUBARU
1st Gen 2012 after
SU-12621 SU-12622
Tie Rod End Tie Rod End
Front Right Front Left
34161CA000 34161CA010
SU-14237 SU-14620
Stabilizer Link Stabilizer Link
Rear Front
20470FG000 20420CA000
SU-13623
Axial Joint
Front
SuU00300832
(SF) 1997-2002
SU-13406 SU-11405
Axial Joint Ball Joint
Front Front Lower
M14x1,5-L=292mm 21067GA050
34140AA040
SU-14227 SU-12221
Stabilizer Link Tie Rod End
Rear Front
L=100mm M14x1,5Rht
20841AA001 34141AA042
|
SU-14226
Stabilizer Link
Front
L=66mm
20420AA004
(SG) 2002-2007
SU-14226 SU-12221
Stabilizer Link Tie Rod End
Front Front
L=66mm M14x1,5Rht
20420AA004 34141AA042

parsrot.com

4

info@parsrot.com



Rot sy

== Land SUBARU
FORESTER (SG) 2002-2007
|
SU-13223 SU-13224
N Axial Joint Axial Joint £
Front Right Front Left !
M14x1,5-L=302mm M14x1,5-L=298mm
34160AE000 34160AE010
SU-14606 SU-11405

Stabilizer Link

Ball Joint

Rear Front Lower
L=70mm  51067GA050
20470SA011
(SH)
SU-13613 SU-12231
Axial Joint Tie Rod End
Front Front
M14X1.5-L-325MM M14x1,5
34160XA010 34161SA000
SU-14616 SU-14236
Stabilizer Link Stabilizer Link
Rear Front
A=106.5MM L=60mm
20470SC000 20470SA000
SU-16618 SU-16619
Suspension Control Arm and Ball Joint Suspension Control Arm and Ball Joint
Assembly Assembly

Front Right Lower

Front Left Lower

20202SC001 20202SC012
(SJ) 2014-2018
.|
SU-14610 SU-14616
Stabilizer Link Stabilizer Link
Front Rear
L=71mm/M12x1.25 A=106.5MM
20420XA000 20470SC000
.|
SU-12221
Tie Rod End
Front
M14x1,5Rht
34141AA042

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land SUBARU
FORESTER SH 2008-2014
. |

SU-19235 SU-201241

o Lateral Arm Control Arm Bushing
! Rear Lower Rear Lower !
20250FG020 2020FG020

IMPREZA (SG) 2002-2007

SU-13224 SU-13223

Axial Joint Axial Joint

Front Left Front Right
M14x1,5-L=298mm M14x1,5-L.=302mm

34160AE010 34160AE000

IMPREZA GC,GF 1992-2000

SU-14227 SU-14226
Stabilizer Link Stabilizer Link

Rear Front
L=100mm L=66mm

20841AA001 20420AA004

SU-13406 SU-12401
Axial Joint Tie Rod End

Front Front Right
M14x1,5-L.=292mm M14x1,5Rht

34140AA040 31320GA190

SU-12403
Tie Rod End

Front Left
M14x1,5Rht

31320GA200

IMPREZA GD,GG 2000-2007

SU-11405 SU-12221

Ball Joint Tie Rod End

Front Lower Front
21067GA050  M14x1.5Rht
34141AA042

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 6 info@parsrot.com



Rot sy

== Land SUBARU
IMPREZA GD,GG 2000-2007
SU-14227 SU-14606
Stabilizer Link Stabilizer Link
Rear Rear
L=100mm L=70mm
20841AA001 20470SA011

GE, GH, GR, GV

SU-12231 SU-13613
Tie Rod End Axial Joint
Front Front
M14x1,5 M14X1.5-L-325MM
34161SA000 34160XA010
SU-19235 SU-14236
Lateral Arm Stabilizer Link
Rear Lower Front
20250FGO20  --60mm
20470SA000
SU-11405 SU-14237
Ball Joint Stabilizer Link
Front Lower Rear
21067GA050 20470FG000
SU-13233 SU-16238
Axial Joint Suspension Control Arm and Ball Joint
Assembly
Front Inner
M14x1,5-L=302mm Front Right Lower
34160AE001  20202FJ000
SU-16239 SU-16238N
Suspension Control Arm and Ball Joint Suspension Control Arm
Assembly
Front Right Lower
Front Left Lower
20202FJ000
20202FJ000
SU-16239N SU-201241
Suspension Control Arm Control Arm Bushing
Front Left Lower Rear Lower
20202FJ010 2020FG020

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

info@parsrot.com



Rot sy

= Land SUBARU
JUSTY 1984-1995
|
SU-13112 SU-12111
N\ Axial Joint Tie Rod End —
Front Front
M12x1,25Rht-L=220mm M12x1,25Rht
731310140 731320020
SU-11115
Ball Joint
Front
721067020
1995-2003
$Z-12201 SU-13112
Tie Rod End Axial Joint
Front Front
M12x1,25Rht M12x1,25Rht-L=220mm
4881082000 731310140
2003-2006
|
OP-20723 OP-13173
Control Arm Bushing Axial Joint
Front Lower Inner Front ———
9210270 M12x1,25-L=239.8mm
4883086G00
|
OP-18175K OP-16175
Suspension Control Arm Kit Suspension Control Arm and Ball Joint
Front Assembly “
Ch.1G075422-> L=294,6mm FrontLower
Ch.1G075422-> L=294,6mm
4705742
4705742
|
OP-12171
Tie Rod End
Front
M12x1.25
4705716
LEGACY | BC, BJ, BF 1989-1994
|
SU-11405
Ball Joint

Front Lower

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

21067GA050

info@parsrot.com



—
sy L and

LEGACY

Il BD, BG, BK

SU-11405
Ball Joint

Front Lower

SU-13406
Axial Joint

Front

M14x1,5-L=292mm

SUBARU

1994-1999

21067GA050
34140AA040
SU-14227 SU-12221
Stabilizer Link Tie Rod End
Rear Front
L=100mm M14x1,5Rht
20841AA001 34141AA042
SU-14226 SU-12403
Stabilizer Link Tie Rod End
Front Front Left
L=66mm M14x1,5Rht
20420AA004 31320GA200
SU-12401
Tie Rod End
Front Right
M14x1,5Rht
31320GA190
Il BE, BH, BT 1999-2003

SU-14226 SU-12221
Stabilizer Link Tie Rod End
Front Front
L=66mm M14x1,5Rht
20420AA004 34141AA042
SU-11405
Ball Joint
Front Lower
21067GA050
IV BL, BP
SU-11405 SU-12221
Ball Joint Tie Rod End
Front Lower Front
21067GA050  M14xT.5Rnt
34141AA042

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

2003-2008

parsrot.com

9

info@parsrot.com



Rot sy

= Land SUBARU
LEGACY IV BL, BP 2003-2008
. |

SU-14236 SU-13224
N\ Stabilizer Link Axial Joint N

Front Front Left
L=60mm M14x1,5-L=298mm

20470SA000 34160AE010

SU-14410
Stabilizer Link

Rear
L=90mm/M10x1.25

20470AE001

\" 2009-2014

SU-11415 SU-16418

Ball Joint Suspension Control Arm and Ball Joint

Assembly
Front Lower

Front Right Lower
20202AJ05A

20202AJ04A

SU-16419 SU-16418N

Suspension Control Arm and Ball Joint Suspension Control Arm

Assembly
Front Right Lower

20202AJ04A

Front Left Lower

20202AJ05A

SU-16419N  SU-14426

Suspension Control Arm Stabilizer Link
Front Left Lower Front
20202AJ05A  AZB3MM
20420AJ000

|

SU-14237

Stabilizer Link

Rear

20470FG000
\'/| 2015 after

SU-14436  SU-14437
Stabilizer Link Stabilizer Link
Front Right Front Left
20420AL000 20420AL010

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 10 info@parsrot.com



Rot sy

== Land SUBARU
LEONE 2nd Gen 1979-1984
|
SU-13206 SU-12201
S Axial Joint Tie Rod End £
Front Front Right !
M14x1,5-L=254.7mm M14x1,5Rht
731310060 731320000
SU-12203
Tie Rod End
Front Left
M14x1,5Rht
731320010
3rd Gen 1984-1992
SU-13306 SU-12301
Axial Joint Tie Rod End
Front Front Right
M14x1,5Rht-L=287mm M14x1,5
31320GA120 31320GA102
SU-12303 SU-11205
Tie Rod End Ball Joint
Front Left Front
M14x1.5 721067002
31320GA112
OUTBACK
|
SU-14416 SU-14410
Stabilizer Link Stabilizer Link
Front Rear
20420FA020 L=90mm/M10x1.25
20470AE001
OUTBACK 4th Gen 2009-2014
|
SU-11415 SU-16419N
~ Ball Joint Suspension Control Arm

Front Left Lower

20202AJ05A

Front Lower

20202AJ05A

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

11 info@parsrot.com



—
sy L and

OUTBACK

SUBARU
4th Gen 2009-2014
——

SU-16418N SU-16419

Suspension Control Arm

Front Right Lower

Suspension Control Arm and Ball Joint
Assembly

Front Left Lower

20202AJ04A
20202AJ05A
SU-16418 SU-14610
Suspension Control Arm and Ball Joint Stabilizer Link
Assembly
Front
Front Right Lower L=71mm/M12x1.25
20202AJ04A 20420XA000
SU-19235 SU-201241
— Lateral Arm Control Arm Bushing
Rear Lower Rear Lower
20250FG020 2020FG020
OUTBACK BS 2015 after
| |
SU-14437 SU-14436
Stabilizer Link Stabilizer Link
Front Left Front Right
20420AL010 20420AL000

SU-14157

Stabilizer Link

SU-11154

Ball Joint

Rear Left Front Lower
488400C010 20206XA001
SU-11624 SU-14156
Ball Joint Stabilizer Link
Front Lower Rear Right
20206XA001 488300C020
SU-14610
Stabilizer Link
Front
L=71mm/M12x1.25
20420XA000

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com

12

info@parsrot.com



Rot sy

mw Land SUBARU
VIVIO 1992-1995
——
SU-12501
Tie Rod End
Front
: M12x1,25Rht
o 34131KC040
XT 1800 XT COUPE 1984-1992
——

SU-11205 SU-12303
Ball Joint Tie Rod End
Front Front Left

721067002~ M14x1.5
31320GA112

SU-12301
Tie Rod End

Front Right
M14x1,5

31320GA102

XV 1st Gen 2012 after

SU-13633 SU-19235

Axial Joint Lateral Arm
Front Rear Lower

34160SC020 20250FG020

SU-201241

Control Arm Bushing
Rear Lower

2020FG020

* Name of vehicles, models, logos, OE numbers and others in this document are used for reference purposes only.

parsrot.com 13 info@parsrot.com






